[tem Number Title Quantity Comments
5 ATHLETICS MARKER - SPRAY BOOM END TUBE 2 BLAS000
) 7 ATHLETICS MARKER - SPRAY BOOM CENTRE 1 BLAS001
10 ATHLETICS MARKER - REAR SUPPORT TUBE 1 GLAS004
17 M20 FLAT AXLE WASHER 4 6L8016
0) 19 R CLIP 4 BL8017
y N 20 M x 8 BOLT 6 618050
/ 2 FRONT LOCK BRACKET 3 618049
/ 2 WHEEL 300-4 4PR BMV FT210x PL 19mm PB RED 2 618003
- 23 ATHLETICS MARKER - DCU MOUNTING PLATE 3 BLAS010
®)E 24 ATHLETICS MARKER - FRONT SUPPORT BRACKET 1 BLASOT!
@ 2 ATHLETICS MARKER - FRONT SUPPORT BRACKET (0PP) 1 BLASO12
2% No.6 x 95 PAN-POZI SELF TAPPING SCREW 6 BLS 6007
27 ATHLETICS MARKER - DCV MOUNTING COLLAR 3 BLASOB
28 GRIP SCREW (M6x40) (SKIFFY 105-0640-699-01) 3 GL8034
29 MS x 16 HEX BOLT 6 BLASOT6
3 PLASTIC TUBE RETAINER 4 BLS 6006
34 ATHLETICS MARKER - FRONT SUPPORT TUBE 2 GLAS009
35 NOZZLE YELLOW 80 - 8259151 3 EL7016
3 FILTER NOZZLE 50 MESH (81390021 3 6L7011
37 00V - 8235019 3 67013
38 D0V - CAP AND WASHER - 8253048 3 BL70t
39 TUBE PLUG LAMINEA 19MM 085019069903 8 BL8012
40 M6 NUT 4 618020
“ SADDLE WASHER 102 0200 599 01 B 618006
42 SPRAY BOOM STIFFENER 2 BLAS008
) L] N 3 M x 50 BOLT 4 GLASO14
DETAIL A 8) (1) (3 (o) (29D 44 M6 WASHER 12 618007
T 45 M x 30 HEX BOLT 2 618009
3 ATHLETICS MARKER - 4 WAY COUPLER 1 BLASO1S
MATERIAL: | SEE DETAILED DRAWINGS 47 TUBING POLY 8MM - BLUE TUBING 1 618056
"V" TYPE: | NA 48 HOSE CLAMP 10MM 3 618067

B/A 90: | NA

FINISH: | SEE DETAILED DRAWINGS

QUANTITY:: | SEE DETAILED DRAWINGS

TOLERANCE TO BE*0.5 MM UNLESS OTHERWISE STATED

REVISION DESCRIPTION DRAWN | CHECK | DATE @‘B

TUBE END PLUGS AOED m TR SHEETMETAL DESIGNS

M6x30 BOLTS ADDED WITH WASHERS - 2 PLACES B, B, 2010224 [ 77 g CUSTOMER: 0URA PANTS DATE| 2009008125
1 O TUBE HOLES REVISED WM. WA, 0BT [ o PROJECT:  ATHETICS MARKER SCALE WIS

CODES ADDED FOR BLUE TUBING AND & WAY COUPLER K. KY. 2011047t | T PUNCH PART: &

0 MANUAL PROG: PROGRAM NAME: T1138 DRAWN il
HOSE CLAMPS 10MM ADDED GL80S8 REVISED TO GLASO16 K. K. 2003 | semos] CHECKED
DESCRIPTION TABLE REVISED K. K. 2012007125 |one LocaTion | Drawing Number: T1138 APP'D




